
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

PSG Mini Caddy Parts List 

Note that the quantities listed here below are the standard amounts that are found in each unit and not 

the number of items you need to order. 

# Item # Description Qty/Unit 

1 AC07867 Coil handles. 1 

2 SE24008 MINI-CADDY CAST IRON DOOR WITH HANDLE 1 

3 AC09187 HANDLE AND LATCH KIT 1 

4 AC09185 DOOR LATCH KIT 1 

5 SE51352 REPLACEMENT GLASS WITH GASKET 10 7/8" X 13 1/8" 1 

6 AC06400 Fits on most wood stoves with a glass door 1 

7 30101 SPRING TENSION PIN 5/32" DIA X 1 1/2" LONG 1 

8 PL51349 GLASS RETAINER FRAME 2 

9 OA11400 Recommended for high efficiency EPA wood stoves and fireplaces 1 

10 PL51351 GLASS RETAINER FRAME BRACKET 2 

11 PL51350 BOTTOM AIR DEFLECTOR 1 

12 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 4 

13 SE51285 FURNACE 16'' ASH DRAWER 1 

14 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 4 

15 AC06900 BLACK 1/2'' ROUND X 9' GASKET KIT WITH ADHESIVE 1 

16 30429 3/8'' CHROME COIL HANDLE 1 

17 PL51345 MINI-CADDY ASH SHELF 1 

18 PL51344 MINI-CADDY BOTTOM DECORATIVE COVER 1 

19 PL51340 MINI-CADDY FRONT BASE 1 

20 SE51321 HOUSING FLOOR PANEL 1 

21 SE51419 HOUSING REAR PANEL 1 

22 SE51358 HOUSING RIGHT PANEL 1 

23 SE51405 RH SIDE ACCESS PANEL FOR OPTION 1 

24 PL51339 DECORATIVE EXCHANGER ACCESS COVER 1 

25 30416 WING NUT 3/8"-16 1 

26 30210 WASHER 29/32" OD X 3/8" ID ZINC 1 

27 SE48054 HEAT EXCHANGER ACCESS DOOR 1 

28 30168 HINGE PIN 5/16 DIA. X 1 1/4" LONG 2 

29 AC06900 BLACK 1/2'' ROUND X 9' GASKET KIT WITH ADHESIVE 1 

30 PL51254 PRIMARY AIR DEFLECTOR 1 

31 PL51262 AIR CONTROL DAMPER 1 

32 SE51359 HOUSING LEFT PANNEL 1 

33 SE51404 COVER SET LEFT PANNEL MINI-CADDY 1 

34 PL51404 LOWER LEFT PANEL COVER MINI-CADDY 1 

35 PL51406 UPPER LEFT PANEL COVER MINI-CADDY 1 

36 PL51303 TOP PANEL 1 

37 PL51317 AIR CONTROL ROD 1 

38 51000 HONEYWELL 24V DAMPER MOTOR 1 

39 PA08520 BLOWER ASSEMBLY (MINI) 1 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

40 PL51411 RH SIDE BLOWER HOUSING PANEL 1 

41 PL51412 LH SIDE BLOWER HOUSING PANEL 1 

42 21044 AIR FILTER 20" X 15" X 1" CARDBOARD MINI CADDY 1 

43 SE51422 BLOWER ASSEMBLY ACCESS PANEL 1 

44 SE30433 HANDLE AND LATCH FOR ACCESS PANELS 1 

45 SE51375 BLOWER ASSEMBLY WITH 1/4 HP MOTOR, DD 4 SPEED 1075/4RPM 1 

46 51009 1/4 HP DD-4 SPEED MOTOR 1075/4RPM 1 

47 PL51375 BLOWER SUPPORT MINI CADDY 2 

48 30335 BLOWER ANTI-VIBRATION CUSHION 4 

49 30109 BOLT HEX 1/4 - 20 X 1" 4 

50 44134 MILLIVOLT THERMOSTATS - WHITE 1 

51 PL51292 HEAT EXCHANGER SCRAPER 1 

52 SE45533 MINI-CADDY MANUAL KIT 1 

53 PL36073 6 1/2" X 7/8" X 1 1/4'' REFRACTORY BRICK 2 

54 PL36021 2 1/8" X 9" X 1 1/4'' REFRACTORY BRICK 4 

55 29020 Fits most wood stove brands 5 

56 29011 4'' X 9" X 1 1/4" REFRACTORY BRICK HD 9 

57 29001 Fits most wood stove brands 8 

58 24089 CAST IRON ASH GRATE 4 1/2" X 9" 1 

59 30526 5/32" x 2'' COTTER PIN 3 

60 PL51326 FRONT SECONDARY AIR TUBE 1 

61 PL51325 BACK AND CENTRE SECONDARY AIR TUBE 2 

62 21212 C-CAST BAFFLE 16 3/4" X 15" X 1 1/4" 1 

63 SE51306 SQUARE PLENUM ADAPTER 1 

64 PA08522 FAN LIMIT KIT FOR ADD-ON (MINI/CADDY) 1 

65 51037 INTERLOCK RELAY HONEYWELL 1 

66 PL54380 INTERLOCK RELAY HOUSING 1 

67 51008 FAN LIMIT HONEYWELL L6064 1 

68 PA08000 11Kw electrical element for Mini-Caddy 1 

69 PL51363 11KW ELECTRICAL ELEMENT COMPARTMENT GLIDE 1 

70 PL51324 11KW ELECTRICAL ELEMENT COMPARTMENT 1 

71 60210 3.75 KW ELEMENT 3 

72 44041 THERMODISC L250F MANUAL RESET 36T16 1 

73 PL51323 11KW ELECTRICAL ELEMENT CONNECTIONS HOUSING 1 

74 60235 20 AMPS CIRCUIT BREAKER FOR ELECTRICAL ELEMENT 1 

75 PL51327 11KW ELECTRICAL ELEMENT EXTERIOR LEFT PANEL 1 

76 44093 ROCKER SWITCH 2 POSITION (ON - OFF) WITH GOLD CONTACT 1 

77 PL51328 11KW ELECTRICAL ELEMENT EXTERIOR RIGHT PANEL 1 

78 27149 ELECTRIC ELEMENT LABEL 1 

79 SE51374 11 KW ELECTRICAL ELEMENT MOUNTING PLATE 1 

80 60244 ELECTRICAL ELEMENT TRANSFORMER 220/24 40 VA 1 

81 60206 3 POLES SUPPLY TERMINAL 175 A 600 V 1 

82 51002 90-372 FAN RELAY 50-004-130 1 

83 60208 TRANSFORMER 120 V/24 V 20 VA 1 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

84 60204 RELAY SOCKET 8 PINS 300 V 10 A 1 

85 60203 8 PINS RELAY 24 V 10 A RCP TYPE 1 

86 60202 SEQUENCER 15S X 441 1 

87 60205 3 POLES CONTACTOR 1 

88 PA00500 FAN LIMIT KIT FOR WOOD ONLY FURNACE 1 

89 60236 NEON ROCKER SWITCH 1 

90 51008 FAN LIMIT HONEYWELL L6064 1 

91 60208 TRANSFORMER 120 V/24 V 20 VA 1 

92 PA07400 ROUND HOT AIR PLENUM KIT WITH 5" ROUND OUTLETS 1 

93 SE51427 
 

1 

94 PL51426 COVER OF THE COLD AIR RETURN BOX 1 

95 PL51409 MINI-CADDY TALL PIPE SECTION OF THE ROUND PLENUM 1 

96 PL51408 MINI-CADDY SHORT PIPE SECTION OF THE ROUND PLENUM 1 

97 PL51430 DISTRIBUTION OR COLD AIR RETURN PIPE ADAPTER 16 

98 SE51428 
 

1 

99 PL51380 5'' ROUND PLUG 4 

 

https://www.woodmanspartsplus.com/

